Algebra 2 Test Review

Unit 2B - Quadratic Functions and Relations
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| ‘Target 1: | CAN simplify an expression containing complex numbers and or radicg

What is i? \‘ -'

What is iZ? — ,

What do you know about imaginary numbers?
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What is the proper notation for a complex number? a ) l b’(,
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Do you know the Argand plane? ——l
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1-9: Simplify each expression. Circle your final answer.

~ N

1,

(+3+24

i+3+ -4

2. (-6-12i)=(-8 +23i)
-(-172 t
+9-294

i

(7 -3570)

/",‘7<\,
3. (7-3i)(8 + 4i)

55 —12. =41+ 281

So~12¢-1) + 4

5t A

—18 5\ (\/;)(3 —‘48)

6. (3—i) i
CENESD)

Q- -2 fBL.

QD=
(10 -1 )

D

9, 4
N G
L 1 'L‘+O
ot ?

ﬁ Target 2: | CAN solve a quadratic equation over the set of complex numbers using the most efficient 1
method (factoring, square roots, or the quadratic formula).
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e Square Roots: |(£ |

e Quadratic Formula: Whm

rc

How do you know when to use each method?
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What does the discriminant (b2 - 4ac) tell you about the nature of the roots?

*  How many roots will it have? Qlw 3{{)3 2‘ { e I\qa{ )

®  What if the discriminant is negative? ﬂ’lﬂ YOOH e W|f)< (’m % j

* Whatif the discriminant is zero? ‘H\ﬂfc § d WwM/dOU‘a‘c r(\)Ob ‘h’
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e What if the discriminant is a positive perfect square?
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e What if the discriminant is not a positive perfect square?‘H’\Mf e 2 re 3. (rra

10-18: Solve each quadratic using the most efficient method: factoring, taking square roots, or the quadratic formula.
Circle the final answer. Irrational answers must be written in simplified radical form (no decimals).

10. 4x2+20=0 11. 6 =x*-x 12. x2-4=0
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]' Target 3: | CAN write a quadratic equation in any form given a combination of its part:]

Do you know all 3 forms of a quadratic function?
=axtt+hX+C
>
Y=ax-h) +k

e Standard:

e Vertex:

e Intercept/Factored: @ =A (K "'P) O< -%’)

19-22: Write a quadratic function in standard form for the information given. Show all work used to find your equation!

19. roots: x={-8, 7}and has a
y-intercept of (0, —280)
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20. vertex: (-4, 6) and contains the point: (-1, 9)
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22. Max at (-1, 4) and contains the

point (2, —14)
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23-24: G
raph each
23. system below.
Th
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